Volwmen y Capacidad
(pasowr de unav wnidad av otra)
Solwciow

s 26 Dam? — 26 x 1.000.000 = 26.000.000 dm? = 26.000.0001 = 26.000.000 U
s 07009 cm3 — 0°009:1.000=9dm?*=91:10 = 0 "9 Dal

A 6.791 ml —» 6.791:1.000=6791 L =6791 dm? x 1.000 = 6.791 cm3

s 8.942 cm3 —> 8.942:1.000=8'942 dm3=8942 Ux10 = 89 42 Al

s 3Dam? — 3x1.000.000 = 3.000.000 dm? =3.000.000 L': 10= 300.000 Dal

a 7.341.004 mm?3 —> 7.341.004 : 1.000.000 = 7°341004 dm3 = 7341004 L = 7 “341004 U
a 240m3 —> 240 x 1.000 = 240.000 dm? = 240.000 Z : 100 = 2.400 Hl

A 5.296 cl > 5.296:100=52'96 dm® = 5296 & x1.000 = 52.960 cm?




